

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/26/2025 10:15:11 AM

			General De	tails			
Parcel ID:	450-0010-03443	3					
Document:	Abstract - 71419	98					
Document Date:	03/25/1998						
		Le	gal Descriptio	on Details			
Plat Name:	MIDWAY						
Section	Township		R	ange	Lo	ot	Block
20	49			15	-		-
Description:	E 222 FT OF W	822 FT OF 1	450 FT OF NW	1/4 OF SW 1/4			
			Taxpayer De	etails			
Taxpayer Name	POUKKA ROGE	ER A & DURA	E				
and Address:	5670 GRANDVI	EW RD					
	PROCTOR MN	55810					
			Owner Det	ails			
Owner Name	POUKKA DURA	Æ					
Owner Name	POUKKA ROGE						
		Paya	able 2025 Tax	Summary			
	2025 - Net T	-		•	\$2,731.0	0	
	2025 Spoo	ial Accoccmo	nto		\$29.0		
		ial Assessme				_	
	2025 - To	tal Tax &	Special Asses	ssments	\$2,760.0	0	
		Curren	t Tax Due (as	of 4/25/2025)		
Due May 1	15		Due Octob	ber 15		Total Due	
2025 - 1st Half Tax	\$1,380.00	2025 - 2	nd Half Tax	Half Tax \$1,380.00		2025 - 1st Half Tax Due	
LOLO TOUTIAN TAX			2025 - 2nd Half Tax Paid \$0.00		0.00 2025 -	2025 - 2nd Half Tax Due	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2					
2025 - 1st Half Tax Paid	· · · · · ·		nd Half Due	\$1.38	2025 -	Total Due	\$2,760.00
	\$0.00 \$1,380.00		nd Half Due	\$1,380	0.00 2025 -	Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due	\$1,380.00	2025 - 2	Parcel Det		0.00 2025 -	Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address:	\$1,380.00	2025 - 2	Parcel Det		0.00 2025 -	Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District:	\$1,380.00 5670 GRANDVI 704	2025 - 2	Parcel Det		0.00 2025 -	Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District:	\$1,380.00 5670 GRANDVI 704	2025 - 2	Parcel Det		0.00 2025 -	Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District:	\$1,380.00 5670 GRANDVI 704 - POUKKA, ROGI	2025 - 2 EW RD, DUL ER A & DU R	Parcel Det UTH MN AE	ails		Total Due	\$2,760.00
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District: Property/Homesteader:	\$1,380.00 5670 GRANDVI 704 - POUKKA, ROG	2025 - 2 EW RD, DUL ER A & DU R Assessme	Parcel Det UTH MN AE nt Details (20	ails 25 Payable 2	026)		
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Hom	\$1,380.00 5670 GRANDVI 704 - POUKKA, ROGI	2025 - 2 EW RD, DUL ER A & DU R	Parcel Det UTH MN AE	ails		Total Due Def Bldg EMV	\$2,760.00 Net Tax Capacity
2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District: Property/Homesteader: Class Code Hom	\$1,380.00 5670 GRANDVI 704 - POUKKA, ROGI hestead tatus omestead	2025 - 2 EW RD, DUL ER A & DU R Assessme Land	Parcel Det UTH MN AE nt Details (20 Bldg	ails 25 Payable 2 ^{Total}	026) Def Land	Def Bldg	Net Tax



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 4/26/2025 10:15:11 AM

				Land D	etails		
Dee	ded Acres:	2.30					
Wat	erfront:	-					
Wat	er Front Feet:	0.00					
Wat	er Code & Desc:	W - DRILLED WE	ELL				
Gas	Code & Desc:	-					
Sew	er Code & Desc:	S - ON-SITE SAM	NITARY SYST	EM			
Lot	Width:	0.00					
Lot	Depth:	0.00					
The https	dimensions shown are n s://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatslframe/f	urvey quality. <i>F</i> rmPlatStatPop	Additional lot Up.aspx. If t	information can be here are any questi	found at ons, please email PropertyTa	x@stlouiscountymn.gov.
			Improve	ment 1 D	etails (HOUSE)	
	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	HOUSE	1992	1,16	64	1,164	AVG Quality / 873 Ft ²	SE - SPLT ENTRY
	Segment			Area	Foundatio	on	
	BAS	1	0	0	72	CANTILEV	ER
	BAS	1	26	42	1,092	BASEMEN	NT
	DK	1	0	0	142	POST ON GR	OUND
	OP	1	0	0	56	CANTILEV	ER
	Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC
	1.75 BATHS	3 BEDROOM	3 BEDROOMS			0	CENTRAL, FUEL OIL
			Improven	nent 2 De	tails (DG 24X4	4)	
	mprovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	GARAGE	1963	1,05	56	1,056	-	DETACHED
	Segment	Story	Width	Length	Area	Foundatio	on
	BAS	1	24	44	1,056	FLOATING S	SLAB
	LT	1	14	36	504	FLOATING S	SLAB
	WIG	1	22	22	484	-	
			Improver	nent 3 De	etails (ST 16X1	6)	
	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
s	TORAGE BUILDING	1963	25	6	256	-	-
1	Segment	Story	Width	Length	Area	Foundatio	on
	BAS	1	16	16	256	POST ON GR	OUND
			Improver	nent 4 De	etails (ST 12X1	4)	
	mprovement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.
s	TORAGE BUILDING	0	16	8	168		
	Segment	Story	Width	Length	Area	Foundatio	on
	BAS	1	12	14	168	POST ON GR	OUND
			Improver	nent 5 De	etails (ST 16X2	5)	
	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
s	TORAGE BUILDING	0	40	0	400		-
	Segment	Story	Width	Length	Area	Foundatio	on
	BAS	1	16	25	400	POST ON GR	OUND



PROPERTY DETAILS REPORT





Date of Report: 4/26/2025 10:15:11 AM

		Improve	ment 6 Details (ST 8X10)					
Improvement Typ	e Year Buil	t Main Flo	oor Ft ² Gross A	Area Ft ² Base	ment Finish	Style	Code & Desc.		
STORAGE BUILDIN	NG 0	80	8 (8	80	-		-		
Segme	nt Sto	ry Width	Length	Area	Founda	ation			
BAS	1	8	10	80	POST ON C	GROUND			
		Improvei	nent 7 Details (S	ST 10X12)					
Improvement Typ	e Year Buil	t Main Flo	oor Ft ² Gross A	Area Ft ² Base	ment Finish	Style	Code & Desc.		
SLEEPER	0	12	0 12	20	-		-		
Segme	nt Sto	ry Width	Length	Area	Founda	ation			
BAS	1	10	12	120	POST ON C	GROUND			
		Improv	ement 8 Details	(PATIO)					
Improvement Typ	e Year Buil	t Main Flo	oor Ft ² Gross	Area Ft ² Base	ment Finish	Style	Code & Desc.		
	0	42	0 42	20	-	PLN -	PLAIN SLAB		
Segme	nt Sto	ry Width	Length	Area	Founda	ation			
BAS	0	10	42	420	-				
		Improve	ment 9 Details (I	FAB CPT)					
Improvement Typ	e Year Buil	t Main Flo	oor Ft ² Gross A	Area Ft ² Base	ment Finish	Style	Code & Desc.		
STORAGE BUILDIN	NG 0	28	8 28	88	-		-		
Segme	nt Sto	ry Width	Length	Area	Founda	ation			
		10	12 24 288			POST ON GROUND			
BAS	1			County Auditor		JROUND			
BAS No Sales informa		Sales Reported		County Auditor		SKOUND			
		Sales Reported	to the St. Louis	County Auditor		Def Bldg EMV	Net Tax Capacity		
No Sales informa Year	tion reported. Class Code	Sales Reported	to the St. Louis ssessment Histo Bldg	County Auditor	Def Land	Def Bldg			
No Sales informa	tion reported. Class Code (Legend)	Sales Reported As Land EMV \$36,400	to the St. Louis ssessment Histo Bldg EMV	County Auditor	Def Land EMV	Def Bldg EMV			
No Sales informa Year 2024 Payable 2025	tion reported. Class Code (Legend) 201	Sales Reported As Land EMV \$36,400	to the St. Louis ssessment Histo Bldg EMV \$243,900	County Auditor Cory Total EMV \$280,300	Def Land EMV \$0	Def Bldg EMV \$0	Capacity -		
No Sales informa Year	tion reported. Class Code (Legend) 201 Tota	Sales Reported A: Land EMV \$36,400 \$36,400 \$35,500	to the St. Louis ssessment Histo Bldg EMV \$243,900 \$243,900	County Auditor Dry Total EMV \$280,300 \$280,300	Def Land EMV \$0 \$0	Def Bldg EMV \$0 \$0	Capacity - 2,590.00		
No Sales informa Year 2024 Payable 2025	tion reported. Class Code (Legend) 201 Tota 201	Sales Reported As Land EMV \$36,400 \$35,500	to the St. Louis ssessment Histor Bldg EMV \$243,900 \$243,900 \$221,300	County Auditor	Def Land EMV \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0	Capacity - 2,590.00 -		
No Sales informa Year 2024 Payable 2025	tion reported. Class Code (Legend) 201 Tota 201 Tota	Sales Reported Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$35,500 \$34,500	to the St. Louis Sesessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300	County Auditor Total EMV \$280,300 \$280,300 \$256,800 \$256,800	Def Land EMV \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 -		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024	tion reported. Class Code (Legend) 201 Tota 201 Tota 201	Sales Reported As Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$34,500 \$34,500 \$	to the St. Louis Sesessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$225,600	County Auditor Total EMV \$280,300 \$200 \$200,100 \$2	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 -		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota	Sales Reported Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$33,500 \$34,500 \$34,500 \$33,900	to the St. Louis Sessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$221,300 \$225,600 \$205,600	County Auditor Total EMV \$280,300 \$280,300 \$280,300 \$256,800 \$256,800 \$240,100	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 -		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201	Sales Reported Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$35,500 \$34,500 \$34,500 \$33,900 \$33,900	to the St. Louis Sesessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$225,600 \$205,600 \$186,500	County Auditor Total EMV \$280,300 \$220,400 \$220,400 \$220,400 \$220,400	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 - 2,245.00 -		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201	Sales Reported Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$35,500 \$34,500 \$34,500 \$33,900 \$33,900	to the St. Louis Sessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$221,300 \$225,600 \$205,600 \$186,500 \$186,500	County Auditor Total EMV \$280,300 \$220,400 \$220,400 \$220,400 \$220,400	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 - 2,245.00 -		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201 Tota	Sales Reported A: Land EMV \$36,400 \$36,400 \$35,500 \$35,500 \$33,500 \$33,900 \$33,900 \$30 \$30,900 \$30 \$30 \$30 \$30 \$30 \$30 \$30 \$30 \$30 \$	to the St. Louis Sesessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$221,300 \$225,600 \$205,600 \$186,500 \$186,500 Tax Detail Histor Total Tax & Special	County Auditor Cry	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 - 2,245.00 - 2,030.00		
No Sales informa Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023 2021 Payable 2022 2021 Payable 2022	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201 Tota 201	Sales Reported	to the St. Louis Sesessment Histor Bldg EMV \$243,900 \$243,900 \$221,300 \$221,300 \$221,300 \$225,600 \$205,600 \$186,500 \$186,500 Tax Detail Histor Total Tax & Special Assessments	County Auditor Total EMV \$280,300 \$280,300 \$280,300 \$226,800 \$256,800 \$226,800 \$240,100 \$220,400 \$220,400 \$220,400 \$220,400 \$220,400	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Def Bldg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 2,590.00 - 2,427.00 - 2,245.00 - 2,030.00		







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.